
Day 1: Kyoto Contest 2
42nd Petrozavodsk Programming Camp, Winter 2022, Tuesday, February 1, 2022

Problem A. Announcements
Input file: standard input
Output file: standard output
Time limit: 2 seconds
Memory limit: 1024 mebibytes

There are N billboards with announcements near Kyoto University.

The i-th billboard appears at day Si. However, at each T -th day, all billboards installed before this day
are removed. You may assume that, on those days, no new billboards will appear.

Find the minimal number of times you need to visit the university to see each billboard at least once.

Input
The first line of input contains one integer N (1 ≤ N ≤ 2 · 105). The second line contains N integers
S1, S2, . . . , SN . Here, Si is the day when the i-th billboard appears (1 ≤ Si ≤ 109). The last line contains
one integer T (2 ≤ T ≤ 109, Si is not divisible by T for any i): the interval between successive deletions.
This means the billboards are removed on days T , 2T , 3T , and so on.

Output
Print one integer: the minimum number of visits you need to do to see each billboard at least once.

Examples
standard input

3
1 2 5
3

standard output
2

standard input
5
1 1 1 1 1
2021

standard output
1

standard input
9
623690081 433933447 476190629 262703497 211047202 971407775 628894325 731963982 822804784
128512451

standard output
7

Note
In Example 1, the first two billboards are appearing on days 1 and 2. Then those 2 billboards are removed
on day 3. After that, on day 5, the last billboard appears, which is then removed on day 6. So you may
visit on day 2 (to see billboards 1 and 2) and on day 5 (to see billboard 3), two times in total.
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